4-549-018-02(1)

SONY.

HD Color Video Camera

REHAE

Installation Manual
Manuel d’installation
Manual de instalacion

BEVEFVEREESDHESTEVET,

BRHMEF REDCHDEREIRZTSENE  NKPAFERITTE
S H| 3CenHbET,

COREHAE(CIE. BREH S TeHDEBRLIRRRERMOW D RVN e ZR U

THOHET. COREHAEZ LK BHRHFDS X RAZELZE(CHBENTZE V. Bt

HIFDIeHEF WD THREEND ECBICRTREL T EE L,

SRG-300SE

IP)ELA

© 2014 Sony Corporation  Printed in China

4549018020

B / Front / Avant / Delante

T

E51H / Back / Arriére / Detras

Y

) %

- mmm o ©

lg

LT

EREAEICDWT

RED8H(C (FHR)
AR SERZEIED FDDABEENEH SN TCVE T, BFTBHH<IEEL,
REFHPAE (xB)

CODFREFHAECF DA SEEDEBDRIFRE. FHD UH e hiEtHE SN
TVET, BIEDRICHTDHH<fEEL,

A—Y—HA R/7TV5—arHA R(Web)

AXSDEY NP v TDHER. WebD S DHEN LIy SO—ILOHED
SEEHINTVETD,

BREBHAZICUED D TAXATZEULLRE. &ERLlcdb s . 1——HA1 K&
CHBIHE>THATERIEL TS0,

HA RIERDOURLD B YD O— RTEET,
http.//www.sony.jp/brc/support/

HEBORFEHE

ARASHE

BT

O LVX

® POWERER)1VIr—5— (%)
IASICEBRAMHASND EAASHEB T AT LAF TV IZTVE T, ER
[CEMELCWVBDIBAIFI DAV IT—5—DafTUE T,

® NETWORK(Rw RD—D)A v Ibr—4—

2w RD—=J[CERINTVD EEFmT. FeFmBLET. Ry hD—JI(C
BRINTOENEEFETULTVED,

=[]

0O VEybhRAYF

FEOMNBDT. CDORA vFERULHSEBREAND & TIHBERRDERE
[CRDFT,

O == 12V (BEAN)IHF

HBDAC EBRF7 Y T5—=ERUFE I,

O LAN(RY bD—2)ik— M(RJ45)

v D=5 —=JJLUTP. A7 JU— 5 E)EFERLTRY hD—2
(TOBASE-T/T00BASE-TX) [ LFE T

| TiEE

T2, EIIMESRZER T DRI BABEZF DN S IR

& —7% CDim TR UIEW T IEE L,
BHEICOVTIEFEABDERICHE > TLIEEL,

©@ SDIOUT (SDIEA)imF

AEHNSDBGEZESDIES E L THEALETD,

@ VISCA RS-422 imF

RS-422 THBETDHAICERLET,

BERENTWVBVISCARS-422 AR I—TS5 0% HERLEE L,

| CiEE

EEDEBEEUNIVEZLZESED/cH. BEVDGND Z#ii LT EE,
VISCA RS-422 igF D E /ALl
1234567809

L LLLLLT

VISCA RS-422

gg e
TXD IN+
TXD IN—
RXD IN+
RXD IN—
GND

TXD OUT+
TXD OUT—
RXD OUT+
RXD OUT—
© LINEIN (54 AN mF
MERO=FT - EZFEHRUE T

E=

NATATFEFESA VAT FEWebT S DT KD EESHDANZERL

THERAULET. ZORHERICERTDHIELETEREA.

FULIFI—T—HA FZEBRULTLEE L,

O MIC RAIANMHEF(E=IvrvI.E/S)

TERDON A D72z UE T,

=3

¢ JARXDREREED K DEHEBEDEL ICIFRELIENTLEE L,

* AEDELICNA IZRET D EAOIMESTZIR D LMD DET,
HONUHRERICT A I ANDERZ CHERIEE,

[EE

® BOMFARITN(IMI)

® =HD{FIIER

® TEHESNI

TEDRI . BRBEFROERBRNECEH SN TNET,

i
ACER~ DR B

1 ABOACER7Y 79— (B-a)cEREI— RB-b)EFE->THAS
ZaAVEY MMIDIEL,
AASDERENPAD. POWERA VI —5—D Rk ULET,
AASHIEENT B BN/ - F)U NEER L. SRS N (IBIC
BEHUET,

O | (N A~ w|N[—

2 ZTOMOEDESROEEEAND.

p==d- =

FHFERAA v FERATOER A

BRBORICIF BBICT I EATELETEREAICERERRBZRT DN F
AhCBBITRETEUCEDREBISEVWIVEY MCBRISIZER LT
<fEEL,

F— BEHDESRICIE. SHEMEEZTION. BRI IERVN TS
Lo

| TiEE |

BREANCHE. T ICEREYSHVTL RSV, BRETZEE(E. 59
EEBHFEEEL,

IPUE—bhIY FO-5—0DkERH B|

WebTSOYDIERE] Ry hD—=JIXZ2—RmHhBUE— I ~O—
S—DVISCAERAEZBIRUTLEEW, #ULEI—T—H+ RZE8BRLT
<IEELN,

U7 URS-4221BHDIES

VISCA RS-422 i F(B-9) Z##E > CIP UE— hIJ>Y hO—5—RM-IP10 (B-h)

BEFTDENTEE T, VISCA RS-422 ##5Tld . &A1.2 km FTOEFHN

EIBET Y,

AXSEUE— NIV bO—S—(CHBDRS-422 IwmFEIRII— (B-H%

FoT Emr—JILESELTLIEE,

B — T IVEEDRIE. SEBDRITEBEDVISCA RS-422BF DLV ESI%=

TEBELEEL,

| iEE

o AHEDVISCA RS-4221E 5 DEDBIEREREIEWeb T SHOYDIERE] -
[PTZFEI A Za—FEN LTI TS, UL [FI—T—H1 RES
BLTLEE,

® VISCARS-422iF&E>T . UE— IV FO—S— 8T DRI U
E— IV bO—S5—DEEDBOTTOMZ A v F TRS-422DERENTND
TEEBRLUTLIEEV, e BERERENHXSEUE— DY bO—
S—CRUTHDTEFmERLTLEEW,

LANERODES

MERO=R Y ~O—05—TJ)L([E-d)ZE > T AEDLANR— & UE— ROV
FO—5— (B-hEERTEFT,

FlelF kY hO—oDI—5—FF/N\IT(BA-oLUE—- IV bO—5—%
B cEERI,

R =y
cER

* |[ANZE>TCUE— IV bO—5—&EER I DREICF UE—~IY O—
S—DEEDBOTTOMRAA wF TLANAEIRESNTVS C & ZR LT
[N

e LANEERCOY bO—)LTBBEEFHT IU— 5L V—)U RY A X XY
DRy hI—=05—T)b7%& fERLIEEL,

SDIE& B]
DDA SIRGEZESDIEAHF D SBE —JIL(El-e) ZE>T. SDIASMR
FEFOEZF—MHECHNITEHIENTEFT,

EE3
EZI—DAKRICEDE T, WebTZ9UDSSDIET S 74 —< v hD&EIR%
LTLIEE L, UL EA—T—H4 REsBRULTL T,

2y NO—I DR B|
miRD=R Y NT—0 45 —=T)V(E-d) ZE > T AHEDLANR— hEXR W S
JD—oD)\—5—FTelF/\T(F-o) B TEE T,

EE
10BASE-TEzI&T00BASE-TXIRDLANST — )L (A7 JU— 5B ) THERFE U
TLIEEL,

AREICIP? FRLAZEDEHTS

1 UTOURLEDEED T+ ILFICTSNC toolboxlDA V& h—5—%
90— KR93,
http.//www.sony.jp/brc/support/

N

SNC toolboxZA4 VX b—ILT %,
FoO—RUEAVAN=S—DZPT 7 A V=R D,
[SncToolbox_Setup.exelZ5 TILOU v I T B,

A VA N=IVEERERSEDFMICDOVWTIE 7 IUT—y 3 v HA
RZECEL L,

w

IP7 RLREEIDHE TS,

A VA R=)LUTESNC toolboxZfE> T, IP7 RURZEIDHTS,
FULF. P TUT—2 34 RDISNC toolboxZES ] - TIP77 R
LRZEBIDHTS | ZBRULTLEEL,

e
SNC toolboxl&. Sony Network Camera toolboxDE§ T o
(EENGEL)

Before operating the unit, please read this manual thoroughly and retain it for
future reference.

About the Manuals

Safety Regulations (supplied)
The Safety Regulations describes the secure usage of camera. Be sure to read it.

Installation Manual (this document)

This Installation Manual describes the names and functions of parts and controls
of the camera, gives connection examples and explains how to set up the
camera. Be sure to read the Installation Manual before operating.

User’s Guide/Application Guide (Web)
The User’s Guide describes how to set up the camera and how to control the
camera via a Web browser.
After installing and connecting the camera correctly, operate referring to this
User’s Guide.
https://pro.sony.com/bbsc/ssr/cat-camerasptz/

— “Resources”

Location and Function of Part

Camera

Front

O Lens

@ POWER indicator (green)
When the camera receives power, a system check is run internally in the camera.
The indicator lights up when the camera is operating normally.

© NETWORK indicator

The indicator lights up or flashes when the camera is connected to the network.
The indicator is off when the camera is not connected to the network.

Back

O Reset switch

The camera can also be reset to the factory setting by turning on the power
while pressing the reset switch with a needle/paper clip.

© = DC 12V (power input) connector
Connect the supplied AC power adaptor.

@ LAN (network) port (RJ45)
Connect to a 10BASE-T or T00BASE-TX network using a network cable (UTP,
category 5 or higher).

For safety, do not connect the connector for peripheral device wiring that might
have excessive voltage to this port. Follow the instructions for this port.

@ SDI OUT (SDI output) connector
Outputs an image from the camera as an SDI signal.

© VISCA RS-422 connector

To communicate via RS-422, use this connector. Use the supplied VISCA RS-422
connector plug.

In order to stabilize the voltage level of the signal, connect both ends to GND.

The VISCA RS-422 connector pin assignments
1234567829

L LLLLLT

VISCA RS-422

Pin No. [Function
TXD IN+
TXDIN—
RXD IN+
RXDIN—
GND

TXD OUT+
TXDOUT—
RXD OUT+
RXD OUT—

oV [w|N|=—

© LINE IN (line input) connector
Connect a commercially available mixer, etc.

Use the microphone input connecter or line input connector by selecting either
of the connectors via a Web browser. Therefore, these connectors cannot be
used at the same time.

Refer to the User’s Guide for details.

@ MIC (microphone input) connector (minijack, monaural)
Connect a commercially available microphone.

® |nstall microphones away from equipment that may cause noise.

® The microphone may pick up an operation sound if it is installed near the
camera.
Check sound from a microphone input in advance when installing.

Bottom
@ Ceiling bracket mounting screw holes (M3)

@ Tripod screw hole

@® Rating Label
This label shows the name of device and its electric rating.

Connecting to an AC Outlet B

1 Connect the camera to an AC outlet using the supplied AC power
adaptor ([£]-a) and power cord ([5]-b).
The power of camera turns on and the POWER indicator lights up.
The camera will automatically pan and tilt and be reset to the position stored
in the memory of the camera.

2 Turn on the peripheral devices.

[ CAUTION |

This camera does not have a power switch.

When installing the camera, install a circuit breaker in the fixed wiring that is
accessible easily, or connect a power plug to an outlet close to the camera to
have the power plug removable easily during operation.

When abnormalities occur, turn the circuit breaker off, or unplug it.

Do not turn off the camera immediately after turning it on. Wait for at least five
minutes before turning off the camera.

IP Remote Controller connection B

Select the VISCA connection to the remote controller from “Network” menu in
“Setting” on the Web browser. For details, refer to the User's Guide.

Serial RS-422 connection

You can use the VISCA RS-422 ([E]-g) connectors to connect the RM-IP10 IP
remote controller (E]—h) to the camera. Use of the VISCA RS-422 connectors
allows the connection up to 1,200 m (3,937 feet) away.

Prepare the connecting cable using the RS-422 connector plugs ([E]-f) that come
with the camera and the remote controller.

When you prepare the connecting cable, refer to the VISCA RS-422 connector pin
assignments in “Location and Function of Part.”

® Set the communication speed via “PTZF control” menu in “Setting” on the Web
browser when using the VISCA RS-422 connection of the camera. For details,
refer to the User's Guide.

® When you connect the remote controller to the camera by using VISCA RS-422
connector, check that “RS-422"is selected for the BOTTOM switch on the
bottom of the remote controller. Also, check the communication speed setting
is same between the camera and the remote controller.

LAN connection

You can connect the LAN port of the camera to the remote controller ([F]-h) by
using a commercial network cable ([F]-d).

You can also connect a router or hub ([E]-¢) in the network to the remote
controller.

e When you connect the remote controller to the camera using the LAN
connection, check that “LAN"is selected for the BOTTOM switch on the bottom
of the remote controller.

e When you control the camera by using the LAN connection, use a shielded
twisted pair network cable that is category 5 or higher.

SDI connection B

Outputs the camera images from the SDI output connector to monitors that
have SDI input connectors by using a coaxial cable ([F]-e).

Select a SDI video format via a Web browser, referring to the specifications of the
HD monitor. Refer to the User’s Guide for details.
Connecting to a network E

It is possible to connect the LAN port of the camera to a router or hub ([g]-c) in
the network by using a commercial network cable ([]-d).

Use a LAN cable (category 5 or higher) compatible with T0BASE-T or 100BASE-TX
for this connection.

Assigning the IP address

1 Download“SNC toolbox” installer from the following URL.

https://pro.sony.com/bbsc/ssr/cat-camerasptz/
— “Resources”

N

Install SNC toolbox.

Decompress the downloaded installer zip file.

Double-click “SncToolbox_Setup.exe.”

For details on installation and usage, refer to the Application Guide.

w

Assign an IP address.

Assign an IP address by using the installed SNC toolbox.

For details, refer to “Assigning an IP address” in “Using the SNC toolbox” of
the Application Guide.

Tip

SNC toolbox stands for Sony Network Camera toolbox.
(continued on the reverse side)

Avant d'utiliser I'appareil, veuillez lire attentivement ce manuel et le conserver
pour future référence.

A propos des manuels

Reégles de sécurité (fourni)
Le document Régles de sécurité décrit I'utilisation correcte de la caméra. Lisez-le
attentivement.

Manuel d’installation (le présent document)

Ce Manuel d'installation indique les noms et fonctions des pieces et commandes
de la caméra, fournit des exemples de raccordement et explique comment
installer la caméra. Lisez impérativement le Manuel d'installation avant
I'utilisation.

Guide de I'utilisateur/Manuel d’application (Web)
Le Guide de I'utilisateur décrit comment installer la caméra et commander cette
derniére via un navigateur Web.
Aprés avoir correctement installé et raccordé la caméra, suivez les instructions de
ce Guide de I'utilisateur.
http://www.sony.fr/pro/products/visual-communications

« Caméras d\'imagerie » — « SRG-300SE » — « Ressources »

Emplacement et fonction des piéces

Caméra

Avant
© Objectif

@ Témoin POWER (vert)

Lorsque la caméra est mise sous tension, une vérification du systéeme est
exécutée a l'intérieur de la caméra. Ce témoin s'allume lorsque la caméra
fonctionne normalement.

©® Témoin NETWORK
Le témoin s’allume ou clignote lorsque la caméra est reliée au réseau. Le témoin
est éteint lorsque la caméra n’est pas reliée au réseau.

Arriére

O Commutateur de réinitialisation

Il est également possible de rétablir les réglages par défaut de la caméra ; pour
cela, mettez cette derniére sous tension tout en appuyant sur le commutateur de
réinitialisation a I'aide d’'une épingle ou d'un trombone.

© = Connecteur 12V c.c. (entrée alimentation)
Raccordez I'adaptateur secteur fourni.

@ Port LAN (réseau) (RJ45)
Etablissez la connexion & un réseau 10BASE-T ou 100BASE-TX & I'aide d’un cable
réseau (UTP, catégorie 5 ou supérieure).

[ Remarque |

Par mesure de sécurité, ne raccordez pas le connecteur pour le cablage de
périphériques pouvant avoir une tension excessive a ce port. Suivez les
instructions pour ce port.

@ Connecteur SDI OUT (sortie SDI)

Reproduit I'image de la caméra sous la forme d'un signal SDI.

© Connecteur VISCA RS-422
Utilisez ce connecteur pour communiquer via RS-422. Utilisez le bornier VISCA
RS-422 fourni.

Remarque

Afin de stabiliser le niveau de tension du signal, connectez les deux extrémités a
la borne GND.

Affectations de broches du connecteur VISCA RS-422
1234567829

L LLLLLL

VISCA RS-422

Ne broche |Fonction

1 TXD IN+
TXD IN—
RXD IN+
RXD IN—
GND
TXD OUT+
TXD OUT—
RXD OUT+
RXD OUT —

o |N|loaofn|ph|lw|N

@ Connecteur LINE IN (entrée ligne)
Se raccorde a une table de mixage, par exemple, en vente dans le commerce.

Remarque

Utilisez le connecteur d’entrée du microphone ou le connecteur d’entrée ligne
en sélectionnant I'un ou l'autre par I'intermédiaire d'un navigateur Web. Ces
connecteurs ne peuvent donc pas étre utilisés simultanément.

Pour plus d'informations, reportez-vous au Guide de I'utilisateur.

@ Connecteur MIC (entrée microphone) (mini-prise, mono)
Raccordez un microphone en vente dans le commerce.

Remarques

® |nstallez les microphones a distance d'appareils susceptibles de produire du
bruit.

® Le microphone peut capter un bruit de fonctionnement s'il est installé a
proximité de la caméra.
Lors de l'installation, vérifiez au préalable le son d’une entrée de microphone.

Dessous

@ Trous de vis pour la fixation du support de montage au plafond (M3)
@ Trou de vis du trépied

@ Etiquette de classification
Cette étiquette indique le nom de I'appareil et sa classification électrique.

Raccordement a une prise secteur B

1 Branchezla caméra sur une prise secteur a l'aide de I'adaptateur secteur
([]-a) et du cable d’alimentation ([£]-b) fournis.
La caméra se met sous tension et le témoin POWER s’allume.
La caméra procéde au réglage automatique du panoramique et de
I'inclinaison et reprend la position mémorisée.

2 Mettez sous tension les périphériques.

PRECAUTIONS

Cette caméra ne posseéde pas d'interrupteur d'alimentation.
Lorsque vous installez la caméra, insérez dans le cablage fixe un disjoncteur
facilement accessible ou branchez la fiche secteur sur une prise proche de la
caméra afin de pouvoir débrancher facilement la fiche en cours d'utilisation.
En cas d’anomalies, coupez le disjoncteur ou débranchez-le.

[ Remarque |

Ne mettez pas la caméra hors tension immédiatement apres I'avoir mise sous
tension. Patientez au moins cing minutes avant de mettre la camera hors
tension.

Connexion de la télécommande sur IP B

Sélectionnez la connexion VISCA de la télécommande a partir du menu
« Réseau » sous « Paramétrage » dans le navigateur Web. Pour plus
d'informations, reportez-vous au Guide de I'utilisateur.

Connexion série RS-422

Vous pouvez utiliser les connecteurs VISCA RS-422 ([£]-g) pour raccorder la
télécommande RM-IP10 IP ([£]-h) a la caméra. L'utilisation des connecteurs
VISCA RS-422 permet d'atteindre une distance de raccordement de 1 200 m
(3937 pieds) maximum.

Préparez le cable de raccordement en utilisant les fiches de connecteur RS-422
(IE}-9 fournies avec la caméra et la télécommande.

Quand vous préparez le cable de raccordement, reportez-vous a I'affectation des
broches du connecteur VISCA RS-422 sous « Emplacement et fonction des
piéces ».

Remarques

® |orsque la connexion VISCA RS-422 de la caméra est utilisée, réglez la vitesse
de communication dans le menu « Commande PTZF » sous « Paramétrage »
dans le navigateur Web. Pour plus d'informations, reportez-vous au Guide de
I'utilisateur.

® Quand vous connectez la télécommande a la caméra a I'aide du connecteur
VISCA RS-422, assurez-vous que « RS-422 » est sélectionné pour le
commutateur BOTTOM situé sur le dessous de la télécommande. Vérifiez
également si le réglage de la vitesse de communication est identique sur la
caméra et la télécommande.

Connexion LAN
Il est possible de connecter le port LAN de la caméra a la télécommande ([£]-h) a
I'aide d’un cable réseau en vente dans le commerce ([F]-d).

Il est également possible de connecter un routeur ou un concentrateur ([F]-c) a
la télécommande.

Remarques

Lorsque vous connectez la télécommande a la caméra a I'aide de la connexion
LAN, assurez-vous que « LAN » est sélectionné pour le commutateur BOTTOM
situé sur le dessous de la télécommande.

Lorsque vous commandez la caméra a I'aide de la connexion LAN, vous devez
utiliser un cable réseau de type paire torsadée blindée de catégorie 5 ou
supérieure.

Connexion SDI E

Les images de la caméra provenant du connecteur de sortie SDI sont reproduites,

via un cable coaxial (E]-e), sur des moniteurs équipés de connecteurs d’entrée
SDI.

Remarque

Sélectionnez un format vidéo SDI par I'intermédiaire d'un navigateur Web en
vous reportant aux spécifications du moniteur HD. Pour plus d'informations,
reportez-vous au Guide de I'utilisateur.

Connexion a un réseau B
Il est possible de connecter le port LAN de la caméra a un routeur ou a un
concentrateur ([F]-c) du réseau a l'aide d’un cable réseau en vente dans le
commerce ([£]-d).

Remarque

Pour cette connexion, utilisez un cable LAN (catégorie 5 ou supérieure)
compatible T0BASE-T ou 100BASE-TX.

Attribution de I’adresse IP

1 Téléchargez le programme d'installation de « SNC toolbox » a I'adresse
URL suivante.
http://www.sony.fr/pro/products/visual-communications
« Caméras d\'imagerie » — « SRG-300SE » — « Ressources »

N

Installez SNC toolbox.

Décompressez le fichier zip du programme d'installation téléchargé.
Cliquez deux fois sur « SncToolbox_Setup.exe ».

Pour plus d'informations sur l'installation et I'utilisation, consultez le Manuel
d‘application.

w

Affectez une adresse IP.

Affectez une adresse IP a I'aide de la SNC toolbox installée.
Pour plus d'informations, reportez-vous a la section « Attribution d'une
adresse IP » sous « Utilisation de la SNC toolbox » du Manuel d'application.

[ Conseil |

Le terme « SNC toolbox » désigne la Sony Network Camera toolbox.
(suite au verso)

Antes de poner en funcionamiento la unidad, lea detenidamente este manual y
consérvelo para referencias futuras.

Acerca de los manuales

Normativas de seguridad (suministrado)
En la guia Normativas de seguridad se describe el uso seguro de la cdmara. Es
muy importante leer esta guia.

Manual de instalacion (este documento)

En este Manual de instalacion se describen los nombres y funciones de las partes
y controles de la cdmara, ejemplos de conexion e instrucciones para configurar la
camara. Asegurese de leer el Manual de instalacion antes de utilizarla.

Guia del usuario/Guia de la aplicacion (web)
En la Guia del usuario se describe coémo configurar la cdmara y cémo controlarla
a través de un explorador web.
Después de instalar y conectar la cdmara correctamente, consulte esta Guia del
usuario para utilizarla.
http://www.sony.es/pro/products/visual-communications

“Camaras de imagenes visuales” — “SRG-300SE” — “Recursos”

Ubicacion y funcion de las piezas

Camara

Delante
@ Objetivo

@ Indicador POWER (verde)

Cuando la cdmara recibe alimentacién, se ejecuta una comprobacién del sistema
internamente en la cdmara. El indicador se ilumina cuando la cdmara funciona
con normalidad.

© Indicador NETWORK

Este indicador se enciende o parpadea cuando la cdmara esta conectada a la red.
El indicador permanece apagado si la cdmara no se encuentra conectada a la red.
Detras

@ Interruptor de reinicio

Es posible restaurar los ajustes predeterminados de fabrica encendiendo la
camara y pulsando al mismo tiempo el interruptor de reinicio con una aguja o
clip de papel.

© = Conector de 12V CC (alimentacién)

Sirve para conectar el adaptador de alimentacién de CA suministrado.

@ Puerto LAN (red) (RJ45)
Utilicelo para conectar una red 10BASE-T o T00BASE-TX con un cable de red
(UTP, categoria 5 o superior).

Por razones de seguridad, no enchufe a este puerto un conector de cableado de
dispositivo periférico que pueda tener una tensidn excesiva. Siga las
instrucciones de este puerto de conexion.

@ Conector SDI OUT (salida SDI)
Envia una imagen de la cdmara con el formato de sefal SDI.

© Conector VISCA RS-422

Utilice este conector para establecer una conexién RS-422 con la cdmara. Utilice
la clavija del conector VISCA RS-422 suministrado.

Para estabilizar el nivel de voltaje de la sefal, conecte los dos extremos a GND.

Diagrama de los contactos del conector VISCA RS-422
1234567829

L LLELELT

VISCA RS-422
N.ode »
contacto Funcion

1 TXD IN+

2 TXD IN—

3 RXD IN+

4 RXD IN—

5 GND

6 TXD OUT+
7 TXD OUT—
8 RXD OUT+
9 RXD OUT—

© Conector LINE IN (entrada de linea)
Conecte un equipo de mezclas disponible en el mercado, etc.

Utilice el conector de entrada de micréfono o el conector de entrada de linea
seleccionando el conector deseado a través de un navegador web. No es posible
utilizar estos conectores al mismo tiempo.

Consulte la Guia del usuario para obtener mas informacion.

@ Conector MIC (entrada de micréfono) (minitoma, monoaural)
Conecte un micréfono disponible en el mercado.

® Instale los micréfonos alejados de equipos que puedan generar ruido.

e Es posible que el micréfono capte sonidos de operaciones si estd instalado
cerca de la cdmara.
Antes de la instalacién, compruebe el sonido desde una entrada de micréfono.

Abajo
@ Orificios para tornillos de montaje del soporte de techo (M3)
@ Orificio para tornillo del tripode

(@ Etiqueta de valor nominal
La etiqueta muestra el nombre del dispositivo y su clasificacion eléctrica.

Conexiones

Conexion a una toma de corriente de CA B

1 Conecte la cimara a una toma de corriente de CA mediante el adaptador
de alimentacion de CA ([E]-a) y el cable de alimentacion de CA ([£]-b)
suministrados.

Se encendera la cdmara y se iluminara el indicador POWER.
La camara realiza automaticamente un movimiento de barrido horizontal/
vertical y vuelve a la posicién almacenada en la memoria de la camara.

2 Encienda los dispositivos periféricos.

PRECAUCION

Esta cdamara no tiene un interruptor de encendido.

Al instalar la cdmara, instale un disyuntor en el cableado fijo al que se pueda
acceder facilmente o conecte una clavija a una toma de corriente situada cerca
de la cdmara para que pueda desenchufar la clavija rapidamente mientras la
camara esta en funcionamiento.

Cuando detecte cualquier comportamiento anémalo, apague el disyuntor o
desenchufe la clavija.

No apague la cdmara inmediatamente después de encenderla. Espere como
minimo cinco minutos antes de apagar la camara.

Conexion del control remoto IP B

Seleccione la conexién VISCA al control remoto desde el ment “Red” en
“Configuracion” del navegador web. Consulte la Guia del usuario para obtener
mas informacion.

Conexion RS-422 en serie

Puede usar los conectores VISCA RS-422 ([E]-g) para conectar el control remoto
RM-IP10 IP ([E)-h) a la cdmara. Al usar los conectores VISCA RS-422, se puede
establecer la conexién a una distancia méxima de 1.200 m (3.937 pies).

Prepare el cable de conexién con las clavijas del conector RS-422 ([E]-f)
suministradas con la cdmara y el control remoto.

Cuando prepare el cable de conexion, consulte las asignaciones de clavijas del
conector VISCA RS-422 en “Ubicacién y funcion de las piezas”.

® Defina la velocidad de comunicacién a través del ment “Control PTZF” en
“Configuracion” en el navegador web si utiliza la conexién VISCA RS-422 de la
camara. Consulte la Guia del usuario para obtener mas informacion.

® Cuando conecte el control remoto a la cdmara usando el conector VISCA
RS-422, compruebe que “RS-422" esté seleccionado en el switch BOTTOM de la
parte inferior del control remoto. Asimismo, asegurese de que la velocidad de
comunicacién seleccionada sea la misma en la cdmara y en el control remoto.

Conexion LAN

Puede conectar el puerto LAN de la camara al control remoto ([E]-h) utilizando
un cable de red comercial ([F]-d).

También puede conectar un router o un concentrador ([£]-c) de la red al control
remoto.

e Cuando conecte el control remoto a la cdmara usando la conexion LAN,
compruebe que “LAN” esté seleccionado en el switch BOTTOM de la parte
inferior del control remoto.

e Sicontrola la cdmara utilizando la conexion LAN, utilice un cable de red de par
trenzado apantallado de categoria 5 o superior.

Conexién SDI B

Envia las imagenes de la cdmara desde el conector de salida SDI a monitores que
tienen conectores de entrada SDI usando un cable coaxial ([£]-e).

Seleccione un formato de video SDI a través de un navegador web teniendo en
cuenta las especificaciones del monitor HD. Consulte la Guia del usuario para
obtener mas informacion.

Conexion a una red B
Es posible conectar el puerto LAN de la cdmara a un router o concentrador
(IE)-¢) de la red usando un cable de red disponible en el mercado ([£]-d).

Utilice un cable LAN (categoria 5 o superior) compatible con 10BASE-T o
100BASE-TX para esta conexion.

Asignacion de la direccion IP

1 Descargue el archivo de instalacion de “SNC toolbox” desde la siguiente
direccion.
http://www.sony.es/pro/products/visual-communications
“Cémaras de imagenes visuales” — “SRG-300SE” — “Recursos”

2 Instale SNC toolbox.
Descomprima el archivo zip del instalador descargado.
Haga doble clic en “SncToolbox_Setup.exe”.
Para obtener informacién detallada sobre la instalacion y el uso, consulte la
Guia de la aplicacion.

3 Asigne una direccién IP.
Asigne una direccién IP utilizando la versién de SNC toolbox instalada.
Para obtener mas informacidn, consulte “Asignacién de una direccién IP” del
apartado “Utilizacion de SNC toolbox” en la Guia de la aplicacién.

[ Sugerencia |

SNC toolbox corresponde a Sony Network Camera toolbox.
(continua en el dorso)



.

£=4,5mm~ 7 mm

(?=0,18 inches - 0,27 inches)
(£=0,18 pouce - 0,27 pouce)
(£=0,18 pulgadas - 0,27 pulgadas)

Vo M3y

M3 fixing screw

[Q Vis de fixation M3
Tornillo de fijacion M3

£=3 mm~ 8 mm

(£=0,12 inches - 0,32 inches)
(#£=0,12 pouce - 0,32 pouce)
(#=0,12 pulgadas - 0,32 pulgadas)

1,3

JAv—0—7/
Wire rope /

Cable métallique /
Cable metalico

K/
Ceiling /
Plafond /
Techo

o —J LAY

Hole for connecting cable /
Trou pour cable de
raccordement /

Orificio para el cable de
conexién

2—=UvITS5 v hB)/
Ceiling bracket (B) /
Support de montage au

é é plafond (B) /
\? Soporte para techo (B)

71X SIEE / Front of the camera /
Avant de la caméra / Parte delantera de la camara

2
M3X8 (fIf@) /
/ Screw M3x8 (supplied) /
% Vis M3x8 (fournie) /
| Tornillos M3x8
) (suministrados)
4,5

DA 7—O—TZROHIFET. /
Attach the wire rope. /

Fixez le cable métallique. /
Instale el cable metalico. %

®
M3x8 (fJ/8) / I
Screw M3x8 %
(supplied) / @
Vis M3x8 (fournie) /
Tornillos M3x8

(suministrados) -y

TS5y A/
Ceiling bracket (A) /
Support de montage
au plafond (A) /
Soporte para techo (A)

6
=g
IS5y @B/ R/
Ceiling bracket (B) / Ceiling /
Plafond /

Support de montage
au plafond (B) /
Soporte para techo (B)

Techo /

[ 2—U>T
TSTv A/
Ceiling bracket (A) /
Support de montage au
plafond (A) /

Soporte para techo (A)

7,8

K/

% Ceiling /
Plafond /
4 N

& M3X8 (9) /
Screw M3x8
(supplied) /

Vis M3x8 (fournie) /
Tornillos M3x8
(suministrados)

i/ Top / Haut / Arriba

170°
0LL

B / Front / Avant / Delante

<
~
L
<t
O
—
i
~
<
NS
<
o
—

164 (6 '/,)

|
7227/ J
16

3(6'/,)

|&XH / Bottom / Dessous / Abajo

@5, %5 (/5)/

05, depth 5 ('/,,) /

05, profondeur 5 ('/,,) /
25, profundidad 5 ('/5,)

1/4-20UNC, FE7 (5) /
'/,-20 UNC, depth 7 (*/s,) /
'/,-20UNC, profondeur 7 (*/5,) /
'/,-20UNC, profundidad 7 (*/3,)

201", 420" =R
1 Tripod screw hole /
8 (1 /e) ; .
Trou de vis du trépied /
Orificio para tornillo de tripode

4-28(A)
(LEG) M3 27

~ 3
Bl o
= 3
g K
=
=~
3 =
) )
R R
|
ﬂ { o} fo} :
—J
63.5(2'/,) 63.5(2'/,)

Y=Y 5 TS5 v M(B) / Ceiling bracket (B) / Support de montage
au plafond (B) / Soporte para techo (B)

4-4.55%/ 83.5 (3%,
4-g4.5 holes /
4 trous @4,5/
4 orificios de 4,5 /’ \
|
& 1 D U -
AR YV EF )
(] ‘ S
i <
ki \_A_//
N \ |
S ) | | I —
\
©
BT mm/
Unit: mm (inches) /
Unité : mm (pouces) /
Unidad: mm (pulgadas)
BAEE
2B
FRAIBMYTAERETSD

IASHEREE FSTEECDICEEE T,

POZEFFTRVCECHITRET D EEIF /I - FIU EIEMREZRIL T

BICDH KFICHULTET5 DLADECAICHRE L. & MBALELEZREL T

<IEEL

| T |

* FHESEEF AASAY RREFRIENTLEE L,

* AASAY RRZ/IVHBEPFIV MEENF CRISENTLEEW, BED
REREFDET,

ZHICED{F1F S

ZHOBMEBOR Y FERAE, SOROE LE () A M@ICIEET 2RTD
BOZEFEALIN\Y R RSAIN=THDTATLEE,

AEE

ZHARYICLDERR BRDREICFERLEN T ZE L,
BERARIZE>TMDIIISD D]

EEOERD FIFRARINMI) 3BEHRZE>TEELFE T M3RIIFED
HFIENSHSORVELEHBICIEET 2REDBDZEERLTL
Ve RIKEZEBFEDREDFEVFAEICED M1F. LohDifisdhTL
fZE0

XHICERETD E|

MBOY—U2ITST v A B EDAP—0O—T . RI%ZFE>C.BF
DRHDI v 72 3aVRy JRAFECAAXSZEROMIFEIENTER
ER

RET DRICIE KFFERAICRELCTLIEEW,, POZERTEEDH DR
HICHREBEIT DHAF MEENKFEREICHLTE15 DIROXHFICEELT
<fEEL

AEE

* XAFLEDBHICKRET 2HGIF FFIDITEEREITREL TIEELY,

* SANDREIS. FREB O SOERMAT DED (I8 (NBRZRR <) DY A4
DR EZEZSTCEEBICRAMA SNDBEND S EZDENDD_E.
BERICIDMIFITLIESV TAFRENFNEZE U TKRIIDORA LS
S

* ETNEHFHLEDTeSH MBI A P —O—T(ETIMOAMFTTIEE L,

* SANRELUBEE. 1FIC—EFRDHITHRDHATOENC EZRIRL
TLEEWV, Fe ERRRISR U CRIROBRZRE LT EEL,

BRET HHIC

NASDREABZERDTH O KHFICT v /o aviRy IR ERT—

TIVADE =BT TEEET,

BEEA

B —2JIE =020 T30y MA) DR ZE LU CERRCEFT B RIH

DARFEEDMEC. EEfRADINDET Y,

FREDOLHLIE

1 XHADOY v IYaviRyIANDTAv—O—-T=BRb TS,
Jv T AVRYIADRINUCEIERI TR UL TWVEBA) ZHEL
<fEEW,

2 JvvovavikvIAREILTA P—ERDRFSNEFVESIE
I—=UITSTy FB)NEDFIFTLIEE L,

3 Y=UVIISHy MB)ERADI v IV aviRkyIAICED T
60
IOV IVRYIADRITICE 2RI TBLTWFEA) ZHBEL
<rEELY,
—UITS55 v h(B)DEIRTAIHD DD DIIHIC R ITUFENTLY
FI, HETHASDEEICHEDAUBTI . AAXATHEEZEL LD . EE
ZRBUTEROMHIFTLEEL,

4 =V T755y MA)ERBORI(M3X8) 3KATHXSDER
ICEXD 3T %,
=TT ST v ~A)DINEAXSAAKERBROED FIFERITTUM3I)
[CEDBTRDMITERT,
XYFRPDOESIEICRIES LT T,
RIESHHERD S eB. FNZFNDORIZ LoD EfFHTLIEEL,

[ TEE
BORFRVISHBORIETHERL LV, (HBRLSDRIZER UL
S AR ERIET DENGBOET.

5 DA P—O—TEABORY(M3IX8)TY—UYI TSy MAIC
RO,

6 Y—UVITISHy MADREEY—UYITSYy MB)ORICE
Lidd, ¥—UV I TS5y MA) EEBHANEL TREEY 5.

7 NASHEERLLFEHS MEOXY(M3X8) 3FTONSEE
3-60

8 NASHEDKFICT— I EEEHT 2.
| TR
BH Uy — D VISR AN 5BV E S [LMB LT 2L,

9 WebJSuHh SERREMIEERRDREICES £5ICEET 3.
B3
BIRREREDREAZETHE Uty MENCREE T N TIREIC
ROFT. BEBCETU Y NEET D8I BRRERADEEE LT
<EEWV. #ULEI—T—H1 REBRLT AL,

AAXSDHUDE
1 [REOULIDFIE7 T ARSZERURISEFZENT

2 AASEFERHANRU LIFENS AASORIBNEH T
Ty IBHNAASHANE T,

Ei5 Lk
VAT
RES 1920 X 1080p/59.94 (A)/ (B)
1920 X 1080p/29.97
1920 X 1080i/59.94 (SDIEF D)
1280 X 720p/59.94
1280 X 720p/29.97
1920 X 1080p/50 (A) / (B)
1920 X 1080p/25
1920 X 1080i/50 (SDIHFDH+)
1280 X 720p/50
1280 X 720p/25
EIEAT AEBEIEAS
IRE=RT 1/2.8 BdExmor CMOS
Lo HE30 B TIZIVI2 G
f=43mm (wide) ~ 129 mm (tele)
F1.6~4.7
KFEE 63.7° (WIDE i)
BREIRFERH 10 mm (WIDE i) ~ 1200 mm (TELE %)
RIEWEAHIRE 14Lux (F1.6. 50 IRE.ERXEET— ROFF. 30fps &)
2.8Lux (F1.6. 50 IRE.&REE— ROFF. 60fps )
0.35Lux (F1.6. 50 IRE.&=ZXEE— FON. 30fps )
0.7Lux (F1.6. 50 IRE.&XEE— RON. 60fps B¥)
Ty —AE—R
1/1 ~1/10000 22 AT w7)

BRRS/N 50dB
I\ - FIL SRR
JX ‘BE: +170°
BARE 11000 /#
FIL BE . —20° ~+90° (B4 78
BRAEE 1907 /#
Yy rO—=5
JOr3 TCP. UDP. ARP. ICMP. IGMP. HTTP. DHCP.
DNS. NTP, RTP/RTCP. SNMP
ERAR

igERESN JPEG/H.264
EEEMAT AAC (64 kbps (16 kHz). 128 kbps (48 kHz))
BATL—LL—b
JPEG : 30fps (1920 X 1080)
H.264 : 60fps (1920 X 1080)
AT
LAN K—k  RJ-45 (8 E>/). 10BASE-T/100BASE-TX &R
SDI OUT##F  BNCE
(SMPTE 292/SMPTE 424M#R#54HL)
VISCA RS-4221#F
Y=

EREF JEITA type4 (DCIN 12V iHF)

MICi/mF SZIUvwI(E/DIV)
T504 N0 —1(EEEFE2.5VD0)
BRAASILUANIL —42.2 dBu (6.0 mVrms)
ABAE—=F VR 47kQ

LINE INimF RCAORZ&Z(E/ZI)
BAASILANIL +16.2 dBu (5.0 Vrms)
ABA E—5Z 50kQ

Z it

ANEBE DC 12V (DC 108~ 13.2V)

JHES 16.8W

EMERE 0T ~ 40T

RERE —20C ~ +60T

SiETER K D157 X 164 X 163 mm (1§/ &/ BTE) (TEfpEE
ED)

g8 1.4 ke

REAE KECHULTE15 UK

Em ACER7 Y 75— (MPA-ACH BRI— (). ¥—UY
IS5y M)A 2=UrIdTSry hB)(1). DA
—O0—70) BOMEIRI(+M3 % 8)(8). VISCARS-
422 05—=TJ57(1)
ZEDEHIT(1) . REFHHFAS (—0)

RISE7 oYU —
PUE—HrIY bO—-5— RM-IP10

EE3
IEOBEI— REAEOSARTY . HOBSEICIHEATEFBA.

FEOEFRBIONRS. WURDCOFELFLEETHENHDRITH.CT
ALTEEL,

| English
Installation

Installing the Camera on a Desk

Place the camera on a flat surface.

If you have to place the camera on an inclined surface, make sure that the
inclination is less than +15 degrees to guarantee pan/tilt performance, and take
measures to prevent it from falling.

® Do not grasp the camera head when carrying the camera.
® Do not turn the camera head by hand. Doing so may result in a camera
malfunction.

Attaching the Camera to a Tripod

Use a screw with a protruding length from the mounting surface (?) specified in
for the tripod screw hole and tighten the screw firmly with a screwdriver.

 Caution |

Installation of the camera using the tripod screws and screw holes should not be
done for installation on a ceiling or a shelf, etc., in a high position.

Installing the Camera Using the M3 Fixing Screw Holes [5]

Attach the camera using 3 M3 fixing screw holes located on the bottom of the
camera. Use the M3 fixing screws with a protruding length from the mounting
surface (2) specified in [B). Attach the camera to a fitting with a flat surface using
the M3 screws and tighten them firmly.

Installing the unit on the ceiling E|

Using the ceiling bracket (A, B), wire rope, and retaining screws supplied, you can
utilize existing junction boxes, etc., to attach the camera to the ceiling.

When you install the unit, always install it on a level ceiling. If you have to install
it on a sloping or uneven ceiling, make sure that the place where you install it is
within £15 degrees of the horizontal.

 Cautions

e Entrust installation to an experienced contractor or installer when installing
the unit on ceilings or other high locations.

When installing the unit in a high location, be sure that the location and
installation components (excluding the supplied accessories) are strong
enough to support the unit and the mounting bracket, and install the unit
securely. If the components are not strong enough, the unit may fall and cause
serious injury.

® Always install the supplied wire rope to prevent the unit from falling.

If you install the unit in a high location, check periodically, at least once a year,
to ensure that the connection has not loosened. If conditions warrant, make
this periodic check more frequently.

Before installation
After deciding the direction in which the camera will shoot, make the required
holes for the junction box, and connecting cables.

The connecting cables cannot be passed through ceiling bracket (A). A hole for
the wiring is required in the ceiling at the back of the unit where it is attached to
the ceiling.

Installation

1 Attach the wire rope to the junction box in the ceiling.
Use a screw hole and a screw (not supplied) in the junction box to attach the
wire rope.

2 If the wire cannot be attached to the junction box, attach to the position
on the ceiling bracket (B) in the illustration.

3 Attach the ceiling bracket (B) to the junction box on the ceiling.

Align the holes in the bracket with those in the junction box, and use
appropriate screws (not supplied).

There are elongated holes for the screws along the rounded edges of the
ceiling bracket (B). Later, the front of the camera will be positioned along this
edge. Face the camera to the front, adjust the aim, and attach it securely.

4 Attach the ceiling bracket (A) to the bottom of the camera using the 3
screws (M3 x 8) supplied.
Align the screw holes (M3) on the bottom of the camera with those in the
ceiling bracket (A), and attach the bracket to the camera.
Tighten the screws a bit at a time in the numbered order shown in the
illustration.
After all of the screws are inserted and temporarily tightened properly,
securely tighten each one in turn.

For assembly, use only the screws supplied with the unit. Using other screws
may damage the unit.

5 Attach the wire rope to the ceiling bracket (A) using the supplied screws
(M3 x 8).

6 Insert the protrusions raised on the ceiling bracket (A) into the spaces
prepared in the ceiling bracket (B), and temporarily attach them by
pushing the ceiling bracket (A) to the rear.

7 While pushing up on the front part of the camera, attach it using the 3
screws (M3 x 8) supplied, starting with the screw at position (D).

8 Connect the cables to the connectors on the rear of the camera.

Take the proper steps to ensure that the load of the cables connected does
not cause problems.

9 Change the Eflip function to match with the ceiling installation setting
via a Web browser.

When the Eflip function setting is changed, the preset settings are initialized.
When installing, set the Eflip function setting before presetting. Refer to the
User's Guide for details.

Removing the camera

”

1 Remove the 3 screws used to attach the camera in step 7 of “Installation!

2 While pushing the entire camera up towards the ceiling, move the
camera to the front.

The hooks will disengage, and you can remove the camera.

System
Video signal 1920x1080p/59.94 (A) / (B)

1920%x1080p/29.97

1920%1080i/59.94 (only SDI output)
1280%x720p/59.94

1280x720p/29.97

1920%x1080p/50 (A) / (B)

1920x1080p/25

1920x1080i/50 (only SDI output)

1280%720p/50

1280x720p/25

Synchronization Internal synchronization

Image device 1/2.8 type Exmor CMOS

Lens 30x (optical), 12x (digital)

f=4.3 mm (wide) to 129 mm (tele)

F1.6to4.7

Horizontal angle: 63.7° (WIDE end)

10 mm (13/32 inches) (WIDE end) to 1200 mm

(47 1/4 inches) (TELE end)

1.4 lux (F1.6, 50 IRE, highsensitivity mode OFF, 30fps)
2.8 lux (F1.6, 50 IRE, highsensitivity mode OFF, 60fps)
0.35 lux (F1.6, 50 IRE, highsensitivity mode ON, 30fps)
0.7 lux (F1.6, 50 IRE, highsensitivity mode ON, 60fps)

Minimum object distance

Minimum illumination

Shutter speed 1/1 to 1/10000 sec. (22 steps)
Video S/N 50dB
Pan/tilt action
Pan Angle: £170°
Maximum panning speed: 100°/sec.
Tilt Angle: -20° to +90° (Eflip: OFF)
Maximum tilting speed: 90°/sec.
Network
Protocol TCP, UDP, ARP, ICMP, IGMP, HTTP, DHCP, DNS, NTP,

RTP/RTCP, SNMP

Compression

Video compression format
Audio compression format
Maximum frame rate

JPEG/H.264

AAC (64 kbps (16 kHz), 128 kbps (48 kHz))
JPEG: 30 fps (1920 x 1080)

H.264: 60 fps (1920 x 1080)

Input/output connectors

LAN port RJ-45 (8-pin), T0BASE-T/100BASE-TX automatic
discrimination
SDI OUT connector BNC type
(SMPTE 292/SMPTE 424M standard compliant)
VISCA RS-422 connector 9-pin

Power connector
MIC connector

JEITA type4 (DC IN 12 V)

Minijack (monaural)

Plug-in-power supported (rated voltage: 2.5V DC)
Maximum input level —42.2 dBu (6.0 mVrms)
Input impedance 4.7 kQ

RCA connector (monaural)

Maximum input level +16.2 dBu (5.0 Vrms)
Input impedance 50 kQ

LINE IN connector

Others
Power supply 12V DC(10.8t0 13.2V DQ)
Power consumption 16.8W

0°Cto 40 °C(32°F to 104 °F)

-20°Cto +60 °C (-4 °F to +140 °F)

Video camera: 157 x 164 x 163 mm (6 '/, x 6 '/, X6/,
inches) (w/h/d) (not including the projecting parts)
Mass Approx. 1.4kg (3 1b 1 0z)

Installation angle Less than +15 degrees to the horizontal surface
Supplied accessories AC power adaptor (MPA-AC1), AC power cord (1),
Ceiling bracket (A) (1), Ceiling bracket (B) (1),

Wire rope (1), Screw M3x8 (8),

VISCA RS-422 connector plug (1)

Safety Regulations (1), Installation Manual (this
document) (1 set)

Operation temperature
Storage temperature
Dimensions

Optional accessories
IP Remote Controller RM-IP10

The supplied AC power cord is used for this camera only. It cannot be used for
other cameras.

Design and specifications are subject to change without notice.

| Frangais
Installation

Installation de la caméra sur un bureau

Placez la caméra sur une surface plane.

Si vous devez placer la caméra sur une surface inclinée, assurez-vous que
I'inclination est inférieure a +15 degrés afin de garantir le bon fonctionnement
des opérations de panoramique/inclinaison, et prenez les mesures nécessaires
pour éviter qu’elle ne tombe.

Remarques

® Ne saisissez pas la caméra par la partie supérieure (téte) lorsque vous la
transportez.

o Ne faites pas pivoter la téte de la caméra avec vos mains, car cela risquerait de
provoquer un dysfonctionnement.

Installation de la caméra sur un trépied

Pour le trou de la vis du trépied, utilisez une vis qui posséde la longueur saillante
par rapport a la surface de montage (£) spécifiée en [8] et serrez-la fermement a
Iaide d’un tournevis.

N'utilisez pas les vis de trépied et les trous de vis lorsque vous installez la caméra
en hauteur, notamment au plafond, sur une étageére, etc.

Installation de la caméra via les trous de vis de fixation M3 [5)

Fixez la caméra a l'aide des 3 trous pour vis de fixation M3, situés sur le dessous
de I'appareil. Utilisez les vis de fixation M3 qui possédent la longueur saillante
par rapport a la surface de montage (?) spécifiée en [8]. Fixez la caméra a un
support a surface plane a lI'aide des vis M3 et serrez-les convenablement.

Installation de la caméra au plafond E|

Grace au support de montage au plafond (A, B), au cable métallique et aux vis de
fixation fournis, vous pouvez utiliser les boites de jonction existantes, etc, pour
fixer la caméra au plafond.

Veillez a toujours installer la caméra sur un plafond a niveau. Si vous devez
I'installer sur un plafond irrégulier ou incliné, assurez-vous que I'emplacement
d'installation se trouve a +15 degrés maximum par rapport au plan horizontal.

® Sivous souhaitez installer la caméra en hauteur ou sur un plafond, confiez
l'installation a un installateur expérimenté.

® |orsque vous installez la caméra en hauteur, vérifiez que I'emplacement et les
composants d'installation (a I'exception des accessoires fournis) sont
suffisamment solides pour supporter le poids de la caméra et du support de
montage, et installez la caméra correctement. Si les composants ne sont pas
assez solides, la caméra risque de tomber et de blesser gravement quelqu’un.

® Veillez a toujours installer le cordon métallique fourni pour éviter que la
caméra ne tombe.

® Sivous installez la caméra en hauteur, vérifiez réguliérement (au moins une
fois par an) I'état de l'installation. Si les conditions le permettent, effectuez
cette vérification plus souvent.

Avant d'installer la caméra
Aprés avoir décidé du sens de prise de vue de la caméra, percez les trous
correspondants pour installer la boite de jonction et les cables de connexion.

Remarque

Il estimpossible de faire passer les cables de connexion par le support de
montage au plafond (A). Pour faire passer les cables de connexion, vous devez
percer un trou dans le plafond ou sera inséré I'arriere de la caméra.

Installation

1 Fixez le cordon métallique a la boite de jonction au plafond.

Utilisez I'un des trous de vis et 'une des vis (non fournies) de la boite de
jonction pour fixer le cordon métallique.

2 s'il estimpossible de fixer le cordon métallique a la boite de jonction,
fixez-le a la position du support de montage au plafond (B) indiquée
dans l'illustration.

3 Fixez le support de montage au plafond (B) a la boite de jonction au
plafond.
Alignez les trous du support sur ceux de la boite de jonction et assemblez les
deux piéces a l'aide des vis appropriées (non fournies).
Le support de montage au plafond (B) dispose de trous de forme oblongue le
long des bords arrondis. La partie avant de la caméra sera plus tard
positionnée le long de ce bord. Placez la caméra de face, réglez la visée et
fixez la caméra correctement.

4 Fixezle support de montage au plafond (A) au bas de la caméra a I'aide
des 3 vis (M3 x 8) fournies.
Alignez les trous des vis (M3) du dessous de la caméra sur ceux du support
pour plafond (A) et fixez le support a la caméra.
Serrez partiellement les vis dans I'ordre indiqué dans l'illustration.
Une fois toutes les vis insérées et partiellement serrées, serrez-les a fond dans
I'ordre indiqué.

Remarque

Pour I'assemblage, utilisez uniquement les vis fournies avec la caméra.
L'utilisation d'autre vis risque d’endommager la caméra.

5 Fixez le cable métallique au support de montage au plafond (A) a I'aide
des vis fournies (M3 x 8).

6 Insérez les protubérances du support de montage au plafond (A) dans
les espaces prévus a cet effet sur le support de montage au plafond (B),
puis fixez les deux piéces temporairement en poussant le support de
montage au plafond (A) vers l'arriére.

7 Tout en poussant vers le haut la partie avant de la caméra, fixez-la a
I'aide des 3 vis fournies (M3 x 8), en commencant par la vis située a la
position (.

8 Raccordez les cables aux connecteurs situés a l'arriére de la caméra.

Remarque

Prenez les mesures nécessaires pour vous assurer que la charge des cables
raccordés ne pose pas probléme.

9 Modifiez la fonction Eflip pour la faire correspondre au réglage
d’installation au plafond via un navigateur Web.

Remarque

Une fois que le réglage de la fonction Eflip a été modifié, les réglages
prédéfinis sont initialisés. Au moment de l'installation, définissez le réglage
de la fonction Eflip avant de procéder aux préréglages. Pour plus
d'informations, reportez-vous au Guide de I'utilisateur.

Retrait de la caméra

1 Retirez les 3 vis utilisées pour fixer la caméra a I'étape 7 de la section
« Installation ».

2 Déplacez la caméra vers I'avant tout en poussant 'ensemble vers le
plafond.

Les crochets se dégagent et vous pouvez retirer la caméra.

Systéme

Signal vidéo 1920%x1080p/59,94 (A) / (B)

1920%x1080p/29,97

1920%1080i/59,94 (sortie SDI uniquement)

1280%x720p/59,94

1280%x720p/29,97

1920%x1080p/50 (A) / (B)

1920%x1080p/25

1920%1080i/50 (sortie SDI uniquement)

1280%720p/50

1280%720p/25

Synchronisation Synchronisation interne

Dispositif d'image CMOS Exmor 1/2.8

Objectif 30x (optique), 12x (numérique)

f=4,3 mm (grand-angle) a 129 mm (téléobjectif)

F1.6a4.7

Angle horizontal : 63,7° (c6té GRAND-ANGLE)

10 mm (13/32 pouce) (extrémité WIDE) a 1 200 mm

(47 1/4 pouces) (extrémité TELE)

1,4 lux (F1.6, 50 IRE, mode haute sensibilité réglé sur

OFF, 30 ips)

2,8 lux (F1.6, 50 IRE, mode haute sensibilité réglé sur

OFF, 60 ips)

0,35 lux (F1.6, 50 IRE, mode haute sensibilité réglé sur

ON, 30ips)

0,7 lux (F1.6, 50 IRE, mode haute sensibilité réglé sur

ON, 60 ips)

Vitesse d'obturation 1/1a1/10000 s (22 étapes)

Rapport signal sur bruit vidéo 50 dB

Action panoramique/inclinaison
Panoramique

Distance minimale du sujet

Eclairage minimum

Angle: £170°
Vitesse maximale de panoramique : 100°/sec.

Inclinaison Angle : —20° & +90° (Eflip : DESACTIVE)
Vitesse maximale d'inclinaison : 90°/sec.
Réseau
Protocole TCP, UDP, ARP, ICMP, IGMP, HTTP, DHCP, DNS, NTP, RTP/
RTCP, SNMP
Compression

Format de compression vidéo JPEG/H.264
Format de compression audio  AAC (64 kbps (16 kHz), 128 kbps (48 kHz))
Fréquence d'images maximum JPEG : 30 ips (1920 x 1080)

H.264 : 60 ips (1920 x 1080)

Connecteurs d’entrée/sortie

Port LAN RJ-45 (8 broches), différenciation automatique
TOBASE-T/100BASE-TX
Connecteur SDI OUT Type BNC
(Conforme a la norme SMPTE 292/SMPTE 424M)
VISCA RS-422 9 broches

Connecteur d’alimentation
Connecteur MIC

JEITA type 4 (ENTREE 12V CC)

Mini-prise (mono)

Alimentation enfichable prise en charge (tension
nominale: 2,5V CC)

Niveau d'entrée maximal —42,2 dBu (6,0 mVrms)
Impédance d’entrée 4,7 kQ

Connecteur RCA (mono)

Niveau d’entrée maximal +16,2 dBu (5,0 Vrms)
Impédance d'entrée 50 kQ

Connecteur LINE IN

Généralités
Tension d'entrée 12Vcc. (108a13,2Vc.c)
Consommation 16,8 W

Température de fonctionnement

0°Ca40°C(+32°Fa+104°F)

-20°Ca+60°C (-4 °Fa+140°F)

Caméra vidéo : 157 X 164 x 163 mm (6 1/4 X6 1/2 X

6 1/2 pouces) (I/h/p) (piéces saillantes non comprises)

Poids Environ 1,4 kg (31i 1 on)

Angle d'installation Inférieur a £15 degrés par rapport au plan horizontal

Accessoires fournis Adaptateur d’alimentation c.a. (MPA-AC1), Cordon
d’alimentation c.a. (1), Support pour plafond (A) (1),
Support pour plafond (B) (1), Cable métallique (1),
Vis M3x8 (8), Fiche de connecteur VISCA RS-422 (1)
Consignes de sécurité (1), Manuel d'installation (le
présent document) (1 jeu)

Température de stockage
Dimensions

Accessoires en option
Télécommande IP RM-IP10

[ Remarque |

Le cable d'alimentation c.a. fourni est utilisé exclusivement pour cette caméra.
Ne l'utilisez pas pour d’autres caméras.

La conception et les spécifications sont susceptibles d'étre modifiées sans
préavis.

Instalacion

Instalacion de la camara en un escritorio

Coloque la cdmara en una superficie plana.

Si debe colocar por obligacién la cdmara en una superficie inclinada, asegurese
de que la inclinacién no supera £15 grados para garantizar un buen
funcionamiento del barrido horizontal/vertical, y tome las medidas necesarias
para evitar que la cdmara se caiga.

® No agarre la cdmara por la parte superior cuando la transporte.
e No gire la parte superior de la cdmara con la mano. Si lo hace, podria provocar
errores de funcionamiento en la cdmara.

Instalacion de la camara en un tripode

Utilice un tornillo de modo que sobresalga de la superficie de montaje dentro de
los limites de longitud (?) especificados en [8] para el orificio del tornillo del
tripode y después apriete el tornillo con un destornillador.

Precaucion

Los tornillos del tripode y los orificios para tornillos solo se deben usar para
colocar la cdmara en un tripode, no para instalarla en el techo, en una estanteria,
etc,, a una posicién elevada.

Instalacion de la camara con los tornillos de fijacion M3 suministrados [5)

Fije la cdmara usando los 3 orificios para tornillos de fijacion M3 situados en la
parte inferior de la cdmara. Utilice los tornillos de fijacion M3 de modo que
sobresalgan de la superficie de montaje dentro de los limites de longitud ()
especificados en [B). Fije la cdmara a un soporte con una superficie plana usando
los tornillos M3y, después, apriételos bien.

Instalacion de la unidad en el techo

Utilizando el soporte para techo (A, B), el cable metalico y los tornillos de
sujecién suministrados, puede utilizar las cajas de empalmes existentes, etc. para
fijar la cdmara al techo.

Cuando instale la unidad en el techo, debe hacerlo siempre en una superficie
nivelada. Si debe instalar por obligacion la cdmara en un techo inclinado o
irregular, asegurese de que elige una posiciéon con una inclinacién de menos de
+15 con la horizontal.

Precaucion

® Encargue la instalacion a un especialista 0 a un instalador si debe instalar la
unidad en techos o en ubicaciones elevadas.

e Siinstala la unidad en una ubicacién elevada, es muy importante que la

ubicacién y los componentes de la instalacién (sin incluir los accesorios

suministrados) sean lo suficientemente resistentes como para soportar el peso

de la unidad y del soporte de montaje usados para instalarla. Si los

componentes no son lo suficientemente resistentes, la unidad podria caerse y

provocar dafos graves.

Instale siempre el cable de seguridad suministrado para evitar que se caiga la

unidad.

e Siinstala la unidad en una ubicacién elevada, compruebe periédicamente (al
menos, una vez al afno) que la instalaciéon no se ha aflojado. Si las condiciones
lo permiten, se debe llevar a cabo esta comprobacién con mas frecuencia.

Antes de instalar la unidad
Una vez decidida la direccion en la que grabara la cdmara, perfore los orificios
necesarios para la caja de conexiones y para los cables de conexion.

Los cables de conexién no se pueden pasar por el soporte para techo (A). Para
pasar los cables de conexion, debe hacer un orificio en el techo en la posicién en
la que quedaré fijada la unidad.

Instalacion

1 Fije el cable de seguridad a la caja de conexiones en el techo.
Utilice un orificio para tornillo y un tornillo (no suministrados) en la caja de
conexiones para fijar el cable de seguridad.

2 si el cable no se puede fijar a la caja de conexiones, hagalo en el soporte
paratecho (B) segtin se indica en la ilustracion.

3 Fije el soporte para techo (B) a la caja de conexiones en el techo.
Alinee los orificios del soporte con los de la caja de conexiones y utilice los
tornillos adecuados (no suministrados).
Observe que hay orificios mas grandes para los tornillos en los bordes
redondeados del soporte para techo (B). Mas adelante, la parte frontal de la
camara se colocara en este borde. Oriente la cdmara hacia delante, ajuste la
direccion y fijela con seguridad.

4 Fije el soporte para techo (A) a la parte inferior de la cimara con ayuda
de los 3 tornillos (M3 x 8) suministrados.
Alinee los orificios para tornillos (M3) de la parte inferior de la cdmara con los
del soporte para techo (A) y fije el soporte a la cdmara.
Apriete un poco los tornillos de uno en uno en el orden indicado en la
ilustracién. Cuando todos los tornillos estén introducidos y los haya apretado
uniformemente de forma temporal, fijelos definitivamente de uno en uno.

Para el montaje, utilice solo los tornillos suministrados con la unidad. Si utiliza
otros tornillos, podria averiar la unidad.

5 Instale el cable metilico en el soporte para techo (A) usando los tornillos
suministrados (M3 x 8).

6 Introduzca los salientes del soporte para techo (A) en los espacios
provistos en el soporte para techo (B) y fijelos de forma temporal
presionando el soporte para techo (A) hacia el fondo.

7 Mientras presiona la parte frontal de la camara, fijela con los 3 tornillos
suministrados (M3 x 8), empezando por el tornillo de la posicién ().

8 Conecte los cables a los conectores de la parte posterior de la camara.

Tome las medidas necesarias para garantizar que la carga de los cables
conectados no puede acarrear problemas.

9 Modifique la funcién Eflip de modo que coincida con la configuracion de
la instalacion en el techo a través de un navegador web.

Al modificar la configuracién de la funcion Eflip, se inicializan los ajustes
predeterminados. Al realizar la instalacion, configure la funcién Eflip antes de
definir los ajustes predeterminados. Consulte la Guia del usuario para obtener
mas informacion.

Extraccion de la camara

1 Quite los 3 tornillos que utilizé para fijar la camara en el paso 7 de la
seccion “Instalacion”.

2 Mientras presiona toda la cimara hacia el techo, desplacela hacia
delante.

Los ganchos se descolgaran y podra extraer la camara.

Especificaciones

Sistema
Senal de video 1920x1080p/59.94 (A) / (B)
1920x1080p/29.97

1920x1080i/59.94 (solo salida SDI)
1280x720p/59.94

1280x720p/29.97

1920x1080p/50 (A) / (B)

1920x1080p/25

1920x1080i/50 (solo salida SDI)
1280x720p/50

1280x720p/25

Sincronizacién Sincronizacion interna

Dispositivo de imagen Exmor CMOS de tipo 1/2,8

Objetivo 30x (ptico), 12x (digital)

f=de 4,3 mm (gran angular) a

129 mm (TELEOBJETIVO)

DeF1.6a4.7

Angulo horizontal: 63,7° (GRAN ANGULAR)
De 10 mm (13/32 pulgadas) (GRAN ANGULAR) a
1.200 mm (47 1/4 pulgadas) (TELEOBJETIVO)
1,4 lux (F1.6, 50 IRE, modo de alta sensibilidad OFF,

Distancia minima al objeto

lluminaciéon minima

30 fps)
2,8 lux (F1.6, 50 IRE, modo de alta sensibilidad OFF,
60 fps)
0,35 lux (F1.6, 50 IRE, modo de alta sensibilidad ON,
30 fps)
0,7 lux (F1.6, 50 IRE, modo de alta sensibilidad ON,
60 fps)

Velocidad de obturacion De 1/1 a 1/10000 s (22 pasos)

Relacion S/R de video 50dB

Barrido horizontal/vertical

Panoramica Angulo: £170°

Velocidad de barrido maxima: 100°/s

Inclinacion Angulo: de -20° a +90° (Eflip: OFF)
Velocidad de inclinacién maxima: 90°/s
Red
Protocolo TCP, UDP, ARP, ICMP, IGMP, HTTP, DHCP, DNS, NTP, RTP/

RTCP, SNMP
Compresion
Formato de compresién de video
JPEG/H.264
Formato de compresion de audio
AAC (64 kbps (16 kHz), 128 kbps (48 kHz))
Velocidad de fotogramas maxima
JPEG: 30 fps (1.920 x 1.080)
H.264: 60 fps (1.920 x 1.080)

Conectores de entrada/salida
Puerto LAN RJ-45 (8 clavijas), deteccion automatica de T0BASE-

T/100BASE-TX
Conector SDI OUT Tipo BNC

(Conforme al estandar SMPTE 292/SMPTE 424M)
VISCA RS-422 9 clavijas

Conector de alimentacion
Conector MIC

JEITAtipo 4 (IN 12V CQ)

Minitoma (monoaural)

Compatible con entrada de corriente (tensiéon
nominal: 2,5V CC)

Nivel de entrada maximo —42,2 dBu (6,0 mVrms)
Impedancia de entrada 4,7 kQ

Conector RCA (monoaural)

Nivel de entrada maximo  +16,2 dBu (5,0 Vrms)
Impedancia de entrada 50 kQ

Conector LINEIN

General
Voltaje de entrada 12V de CC(de 10,8 a 13,2V de CC)
Consumo de potencia 16,8 W

Temperatura de funcionamiento

De0°Ca40°C(de+32°Fa+104°F)
Temperatura de almacenamiento

De -20°Ca +60 °C (de -4 °F a +140 °F)

Dimensiones Cémara de video: 157 X 164 X 163 mm (6 1/4 x
6 1/2 x 6 1/2 pulgadas) (an/al/pr) (sin incluir las partes
salientes)

Peso Aprox. 1,4kg (31b 1 02)

Angulo de instalacion
Accesorios suministrados

Menos de £15 grados con respecto a la horizontal
Adaptador de alimentacion de CA (MPA-ACT), cable
de alimentacion de CA (1), soporte para techo (A) (1),
soporte para techo (B) (1), cable metalico (1),

tornillo M3x8 (8), clavija de conector VISCA RS-422 (1)
Normativa de seguridad (1), Manual de instalacién
(este documento) (1 juego)

Accesorios opcionales
Control remoto IP RM-IP10

El cable de alimentacion de CA suministrado solo puede utilizarse en esta
camara. No puede utilizarse con otras camaras.

El disefio y las especificaciones estan sujetos a modificaciones sin previo aviso.

http://www.sony.net/

BEVEDEIE

[V ——SBRBmEREROOCRAL ICH RO
VI—#HRRM T108-0075 EHREERERE]-7-1




